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that circle in front of that question number.

(oll52012-13 2 E)
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct; fill

will result in zero mark in that question.
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Use marker or pen to fill the circles. Cutting or filling two or more circles

In parallelogram ABCD ,mL1=

(D) (C) (B) (A) QUESTIONS Q.1
3-by-2 2-by-1 1-by-2 2-by-2 e K & Lion US|
Which is order of a square matrix?
5+4i 5-4i -5-4i -5+4i The conjugate of 5+4iis __ _< 2 SZKE5+4i| 2
0 e 10 1 e L fRK T oS | 3
The logarithm of unity to any base is
h=bl# |Equation=hl-| Sentence +® |Expression 12 e d}lvg4x+3y-2 4
equation 4x+3y-2 is analgebraic ___
16 4 -8 8 KbudrJEraximd Led S m| 5
Find m so that x?+4x+m is a complete square
a+1 a-1 +(a-1) + (a+1) g CAuz6at-2ab+1| 6
The square root of a*>-2ab+1is ____
Non of these -4 2 8 X6R G o Ufer FlebloF3ax<it| 7
4 Which one is solution of the in equation 3-4x<11
When X&R
(-1,-1) (1,1) (-1,1) (1,-1) - ala(x Y) P (x-1, y+1) = (0,0)/7 8
If (x-1,Y+1)=(0,)) then (x, y) is
2 V2 1 0 e el 3K (0,1) 41(1,0) 56| 9
Distance between points (1,0) amd (0,1) is
4 3 2 1 glne KL 10
How many end points has a ray?
mL3 mL4 mL2 mL1 mL1=-. J*ABCD{ Wyl $15* 11




Lot 41 LA b# 44 Lt L uE L et | 12
Equal Concurrent | Perpendicular Equal The bisectors of the angles of a triangle are
distance
4 3 2 1 Howmany — _(fZe&Zb & = Uhtin| 13
lines can be drawn through two points
3 cm? 27 cm? 9 cm? 18 cm? «cal[,}'/ K d/n S| 14
3cm
6 cm
What is the area of given figure
1:1 2:1 3:1 4:1 B LSE eSS L sl k| 15
The medians of a triangle cut each other in
theratio
(1) el 148 (201213 X5 £ oesla (ZENEL g
60,7 F & 2452
Part I -~

2. Answer briefly any SIX parts from the following

6x2=12 - S feliz L g (e utdsen 22

Define symmetric matrix JIw PSS (i)
Find the product of -3 0] { RN S ()
Define rational numbers _q/.g/%w&’t (iii)
(ﬁ —31‘)2 Write in the form of a+bi ot S arbi (JE _ 31')2 (iv)
Find the value of x Logg, = % Logg, = % q/r)"‘;uf X (v)
Calculate Log; xLog} & pbred § Log; x Logs  (vi)
Simplify : 125 % 125 U i)
Factorize 27+8x* 27+8x3 gL EF (iii)
Simplify (3++/3) (3-+/3 ) B+43) 3-+3) w0

3. Answer briefly any SIX parts from the following 6x2=12 -Q/C//"_«,uﬁ/“;‘é 121 %’;é/; ufgbbu -3

Bx-5=4 -2 ()

3x+1 <5x-4 25 Flebled (i)
SR TS ()

Define line segment. <g{.,g/3'd/1,>,ab5 (iv)
Find the distance between two points A and B. When A(9 , 2), B (7 , 2)-& 25 rﬁf,w&w KU ZBuIALE (V)

Solve |3x-5| = 4

Solve the in equation 3x+1 < 5x -4 xeR

Define Cartesion Plane

Find the mid point of the line segment joining A (2,5) and B (-1, 1) -é(}”ﬁ g}&w §A(2,5), B(-1,1)bss (Vi)
A s xo meste U (i

(5:-:+5?|

Find the unknown values of x and m

for the given congruent triangles

55
B sm-3 p 2m+s C

E oy ek (vii)
e Fku (i)

Define median of a triangle

Find the H.C.F of expressions 39x y*zand 91 x° y¢ 2’



4. Answer briefly any SIX parts from the following 6x2=12 -u“/’:/fca;b?/‘?é 4 {c_éfc_ Uf()‘:)'@/) -4

In figure, P is any point lying away < 4')‘))'45 Az < ABs 5 ug éJ/P o Jg (i)
from the line AB, then m PL will be € e Ut (lﬁ <AB LBmPL: G
the shortest distance if mL pLA=90 mL PLA=90 /1
< X
A L s’
Define similar triangles. -gbgﬂfufﬁ‘,bi (i)
Define Ratio. EE Al i)

ce ki b, S S J a8 S a=5em | b=12cm, c=13cmur L S L L ek (iv)

Verify that the following measures of sides are right angled triangle a=5cm , b=12cm , c=13cm

What is Pythagoras Theorem. - L[c«u‘t},lﬁ* (v)
Define bisector of an angle. <§..éf/.”d/..?/l:{,;i} (v
-Q)--
Define Rectangular region. -2;{4/70/21 ufk/ (vii)
Define Incentre. -é...g/?d/// &u,cl (viii)
Construct AABC, in which m E =3.2cm, m E =42cm, m a =5.2cm uﬁu%éleBC&LfA (ix)
Part I (9 -~
8X3= 24 e WAy S ez L et L 8 i
Note: Attempt any Three questions. but question 9 is complasery
3x-2y=4 .
Solve the equation by Crammer rule —6x+4y=T -Zf_fd’:_ 2k Jui@i/l//u?bl/ dse s -5
(216)7 x(25)" (216)7 x(25)" .
Simplify = — &/ ()
(0.04) 7 (0.04) 7 ; ~
Find the value of 3/2.709 x1/1.239 by the logarithm 2.709 x%/1.239 -ép‘”.wfc;u J(};@ (-6
If 2x-3y=10 and xy=2, then find the value of 8x*-27y?2. &k r)"‘.uf J 8x3-27y2 Juxy=2 /512x—3y=10/'7 ()

Factorize cublic polynomial by factor theorem x*+x2-10x+8 <§df“d/u}‘? ‘f//f?(d./) e su de,l/ (IN-7

. . x+3 M 1 3 4x
AU D 00 T 20x=3) ax’-9 &

x+3 1 4x
Simplify as a rational expression 2% +9x 4+ 9 + 2(2x -3) - 4x2 _9

Solve the equation and check for extraneous solution. V2x—-4-2=0 -éJL“"/? 7 éd’faM/ (-8
m AB = 4.8cm, m BC = 3.5 cm, m AC = 4cm and draw its median u:“"fd/u%u:/uABCAw ()
Construct a A ABC in which m E =4.8cm, m E =3.5cm, m E 4cm and draw its medians.

Find the length of the diameter of the circle having centre at C (-3 , 6) and passing through P (1 ,3) .
B o ol e U 153 B0 T Cle g oot oL 18 8555 (1T ()9



